Solving a System Algebraically
by Elimination (Tougher)
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If there is no matching pair you must
multiply one equation by a number
to make one pair the same.

**Still need opposite sign!
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If one equation can not be mutliplied to

(-3x + 8y = -1

ex)¥2x + 5y = 11)
~ make a matching pair you must multiply
both equations by different numbers to

Ex +l5y= 33 create a pair that is the same.

tley=—2 x4+ 5(1) =1\
3‘ﬂ=3\ Ax+S=lIl
—3 :,G
9 %23 (3,1)
ex) 7x-3y=27 N
3(5x + dy = -17) 7(_‘\7)__2’3:3
BX—NRY=2 _.3?’=0\
\SX 4| = -S| 5=__,3
45x=_4-3

=-\



